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Plot Sensor and FgRec Data

dFVo

—o— dFVI
+

77.5

75.0

72.5

70.0

67.5

65.0

62.5

60.0

57.5

day

—&— DUC

0. 04 -
0.02 -
0. 00 -

0. 02 -

0. 04 -

600 -
500 -
400 -
300 -
200 -
100 -

77.5

75.0

72.5

70.0

67.5

65.0

62.5

60.0

57.5

day

77.5

o
)
~
o
N
~
o
o
~
@
o
~
©
>
©
©
—_— — 7Y
o
)
©
o
N
©
o
o
©
o
~
o
> &)
@ &
o o
T T T T T T T T T T T T
© © © ©o© ©o o o o © ~ © )
S L © L © L & b < < < <
< (9] (9] N [aV] — ~— © © © ©
o o o o

77.5

75.0

72.5

70.0

67.5

65.0

62.5

60.0

57.5

day



400

300

200

100

30.0

27.5

25.0

22.5

20.0

17.5

15.0

12.5

90

80

70

60

50

40

2500

2000

1500

1000

500

2.0

1.5

1.0

0.5

1.2

1.0

0.8

0.6

0.4

0.2

Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
T

T S T LR T
(AR
: MV\/\V\A —
mE M
| AL TURVA A
A n i | 7L_Jﬂ\7l' I N
iy W/\y/ |-
U L o |
\—Am‘\ i ! fv\r'l\ | \
WY o
i
AV
dm\ |\ YT,
A7 W i Y
Vv I TS
B e =
e - E
/
pd

INAVENEY Wy A | W\AWVVV\AMN\VWW
| \/\\\\WW T Ay

50

150

175




400

300

200

100

Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]

setVI_ETcl

—o—

—0— setV|_fgRec |
—@— setVI_VN
—8— slSetVI

20



1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VI _pcterr’] missing

0.0

0.2 0.4 0.6 0.8

1.

Plot ['VI pcterr’, 'VO pcterr’, 'VN pcterr’]

1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VO _pcterr’] missing

0.0

0.2 0.4 0.6 0.8

1.

1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VN_pcterr’'] missing

0.0

0.2 0.4 0.6 0.8

1.




Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Trend plot forP3-8 0
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P3-8
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P3-8
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P3-8_0, Day=76 (2025-06-13)
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P3-8
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